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All Women 1.37 N/A | YVVV | YVvv | VY VY | VYV YV 90% to 28%
(+) (+) (+) (-) (-) (-) (-)
Whites 1.31 vV N/A | N/A N/A VY | VY | VY VYV 81% to 15%
(+) (-) (-) (-) (-)
African Americans | 0.43 N/A N/A N/A 2424 N/A
(-)
Latinas 2.44 v N/A | N/A N/A 2244 N/A
(+) ()
Democrats 1.07 | vv v N/A | YV VYV Vv N/A | vV vV vV 2424 95% to 48%
(+) () (+) (+) () () ()
Independents 2.07 N/A v N/A vv v 97% to 60%
(+) (-) ()
Republican 148 | v vv | vv | N/A v A N/A vy | vy 77% to 13%
() (+) () (+) (+) () ()
South 0.1 N/A | N/A vV N4 vV vV 90% to 28%
(+) (-) (-) ()
Non-South 205 | vv | VvV N/A | N/JA | vV VY VY sy | YV YV 90% to 28%
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